
A school club wants to buy shirts for each of its 38 members. Each shirt
cost $23. About how much money will all the shirts cost.
Answer: $874

Step-by-step explanation: multiply 23 by 38 to get the total cost

Answer:

874

Step-by-step explanation:

23 times 38 = 874

38 members, and it costs $23. So that's 38 shirts, costing  $23 each.

Hope this was helpful! Good luck.

What disease can be transmitted by ingesting contaminated food? Chlamydia
E. Coli
Flu
Staph
The term global performance refers to performances that feature a reciprocal exchange among traditions often resulting in cross-breeding and regenerative new
forms that are tailored to broad audiences around the world. True or false?
To kill a mockingbird was published in 1961. Why do you think Harper lee felt the need to write it. Fifty-seven years later, why should we care about this novel
A right triangle has a hypotenuse of 70 feet and a leg of 35 feet. What is the length of the other leg?
A baseball player has 546 plate appearances in his first year, 627 plate appearances in his second year, and 712 plate appearances in his third year. How many
plate appearances has the player had in three years??



Consider a regular pyramid where p is the perimeter of the base, s is the slant height, ba is the base area, and la is the lateral area. what is a valid formula for the
surface area? check all that apply
A case of Mountain Dew (24 cans) cost $7.68. What is the unit price?
Does the size of the sample of uranium-238 affect its half-life
Emilio has taught himself to savor each bite of his meals. He closes his eyes, focuses intensely on the flavors of his food, and maximizes his enjoyment of every
bite. His ability to focus intently on the sensation and perception of taste is similar to Wilhelm Wundt's procedure of ________. a. Sublimation
b. Projection
c. Introspection
d. Empiricism
Tondre Inc. has provided the following data for the month of July: Direct materials $34,000 Direct labor cost $52,000 Manufacturing overhead cost incurred
$72,000 Manufacturing overhead cost applied to Work in Process $74,000 In addition, the beginning balance of work in process inventory (WIP) is $30,000 and
the ending balance of WIP is $20,000. The beginning balance of Finished goods is $46,000 and the ending balance of finished goods is $33,000. The cost of
goods sold that appears on the income statement for July and that has been adjusted for any underapplied or overapplied overhead is closest to:
Characters that change little are called dynamic characters.
a. True
b. False
What multipkys to -90 but adds to 1
Which of the following statements is true of interjections? An interjection is punctuated like a sentence.
An interjection is a connector.
An interjection explains how an action takes place.
An interjection links subordinate clauses to main clauses.
he following is an excerpt from an e-mail written by a student and intended for a college professor. There’s no way that it is possible that I’m going to get this
stupid homework done. Is there any point in showing up to class? If you don’t help me, I’m going to drop this ridiculous class. Rewrite the paragraph after
revising it for tone.
Determine x when y = 18, if y = 9 when x = 8
A match burns because of what type(s) of properties? A. Physical only
B. Chemical only
C. Physical and Chemical
Solve the expression given below 3^4 * 9^8 * 3^13 *9^19 A. 3^52 * 9^152
B. 3^17 * 9^27
C. 9^52 * 81^152
D. 6^17 * 18^27
Yousef al otaiba, the ambassador of the united arab emirates to the united states, warned that the radical islamist leaders of the islamic state posed:

1. Home
2. More Solution
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